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rdlwed gnledwed / POLITICAL SCIENCE

(sl wHmID Y Bidle eufl / Tamil & English Version )

&Ted jemey : 2.30 wenfl CHyLd ] [ Qrgg wHlubluamser : 90
Time Allowed : 2.30 Hours ] [ Maximum Marks : 90

Sdlejemraet : (1) Sarsg elarmss@pd slwrs ueurd o dreTsT eremLSaman
sflurrggls Camerera]b. &FsliLSledler Gapuil@mulber amms
sasrentiliurerflb o L arguwingsd Csfellssea .

2 Beob Sdeg sBUY owulamar LILHGCWL aWgeusDHELD
Sl &5CHMg(HeusH@D LweTLhgS Ceuar(hd. LILBISET eUaTeUSD S,
Quendléd LweTU(HSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ -1 /PART -1
GOy : () DS aTEsHERGEL el H(Hs. 20x1=20
i) Gasr@ssuul(@erer wrHm elmLsalled WD gHLeL W
devLerwd CarpLgshdss @GMuILBHLear elleLulamenyb GCargg)
6T (LPS@]|LD.
Note : () Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. weaflls swsrwusder eurpallh@b, awsHs@Eb gHUOSSULLL @@
@erHlwenWITg oL :
(<) SiTa (<) Camflhamni&mhiger
(&) ehbub (/) &epsid

Which one of the following occupies the most important place among all social
institutions ?

(a) State (b) Trade unions
(c) Family (d) Society

2. &S B ATEH GNSES Hhsenar Wpgem (PSDIL THS BIilged LphHa)

Ceuemardlwg) :

(=) priGeu (<},) CLeomis
(@) @rudorbg (/) evefLe
The welfare state ideals took strong root in :

(a) Norway (b) Denmark
(c) England (d) Sweden

3.  shag el arareanss@ sTe| sfletlsser :
(1) Gameml Cloudes (<=4,) Clegemasen
(@) wdeere (FF) LOTI&em
The chief exponent of the Patriarchal theory is :
(a) Henry Maine (b) Jenks
(c) Mclennan (d) Morgan

4. Ques Hleawerw LD 9455 STliqul QETeTens !
(1) smieulls QameTens (=) FWPsSTW @UILBSS CsTeTens
(@) Qsweiss Cormm Csrdrens () eudlews Csmdarans
The theory which pictured the state of nature :

(a) Matriarchal theory (b)  Social contract theory
(c) Divine theory (d) Force theory
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pLgoms Qubar® Cgm e w Adlep :

(=1) epCGaom (<=1 sy Guimgmen
(8) abdemev weom (FF) &TIe LOmi&en
Who among the following is Behaviouralist ?

(a) Rousseau (b) Jean Bodin

(c) Heinz Eulau (d) Karl Marx

@bl sOTFFTID WS LD euTlbsg eTem Fadlwelr

(1) empGoucd P. @meuTiq bl 6 (<) &SMFeL LOTT&HEN

(@) <iwrsdur Cger (/) @erm G

In the view of "Indian culture is a very strong culture".
(a) Samuel P. Huntington (b) Karl Marx

(c) Amartya Sen (d) Plato

aumLTer auflen CF&SIs6 cramg Teamers GNlsSlarng ?
(=) urpbuflu o4 EmenLo

(=) LEssila) L @D

(8) ApiGuibLmenet 2 eniws s@@E@L 2 @yeLo

(%) Gupeaflu imangsitd

Paying Income Tax signifies :

a) Traditional authority

(
(b) Rational-legal authority
(c) Charismatic authority
(

d) All the above
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8.

10.

11.

12.

STITETOWTGGS® QbSlwredld erhs e Clsmammh eurliulL g ?

(=) 1985 (<4,) 2002 (@) 1996
Liberalised economy was introduced in India in the year :
(@) 1985 (b) 2002 () 1996

CarT erenn @ vsSem GlFmavedlen CLImmET :
(1) ey (<) UL (&) &56

The Latin word camera means :

(a) Structure (b) Picture (c) House

&P (PN ATFTRISSEDEG SDHS 2 STrenTd

(=1) 2AQufssT (<) @pglwir
(@) sl evirhg () @mdleorbg
The best example for collegiate form of Government is :

(a) U.S.A. (b) India

(c) Switzerland (d UK.

Bl&  wCsrgrsser wrhlobsea melude) eTEHHemen
STOSLILI(HSSOTLD ?

(=) 14 Brger (<=4) 7 BrLger (@) 30 Brlger
Money bills can be delayed in the Rajya Sabha only for :

(a) 14 days (b) 7 days (c) 30 days

<Slsry Wfelenars Csmerengenw edlemsdlwieum wmrr ?
(1) GLalll FrevL_ebr (<=y,) Quengmbd
(@) wrearblsvdly, (FF)  &miesT

The Separation of powers is advocated by :

(a) David Easton (b) Bentham
(c) Montesquieu (d) Garner

(FF) 1991

(d)

1991

(FF) &Lligl LD

(d)

BTL&ET  GUEDIS

(FF) 20 BTLger

(d)

Building

20 days
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13. @bl SrFlumendlil] Bl (PanEE@ eUbs e :
(1) 26 Faeurfl 1947 (<=1) 15 =ps6v@H 1945

(8) 26 saraufl 1950 (/) 15 <ypsev(® 1947

The Constitution of India came into force on :
(a) 26™ January 1947 (b) 15" August 1945
(c) 26% January 1950 (d) 15t August 1947

14. wrhlekseT jameuuder Fenaveur W ?
(1) ST (&g UITESHSEEE T (<=),) slenenT FLIMBTLIST
(@) surprwsT (FF) G4WI&ESSEnaalT
The Chairperson of Rajya Sabha is :
(a) Vice president (b) Deputy Speaker
(c) Speaker (d) President

15. wrhle < Epmeny Blulsllelr wri ?

() BGYWUTHESSEDOEIT (<) YysLor

(@) Wpswemw&sFT (r) 2w BHwerm BHuSH
Who appoints the Governor ?

(a) President of India (b) Prime Minister

(c) Chief Minister (d) High Court Judge

16. 25 fHweansder m BHuS rssman cuwig) euany Lsedl eudlliuimi ?

(=1) 62 (<) 65 (&) 58 () 60

A Judge of Supreme Court shall hold office until the age of :
(a) 62 (b) 65 (c) 58 (d) 60
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17. @uremieusd sl eumfluid erhg Hlifeurssng o Ul LGd :

(=) bl FEFTRISLD (<) walwer 9rGsesb

(@) WSS ATFTEISLD () Cuhemmu Senardsn
The Cantonments are administered by :

(a) State Government (b)  Union territory

(c) Central Government (d) All of these

18. ers@pedler ufBgienrser, LEhsmuSs Qrraedl (penmudler ‘LD&T FTFETD’ 6T6T)
L&SLMID GGl Uul L g ?
(<=1) veapsrmi GogsT G () LriGeaGL G
(@) <=Carsd CssT G () Garireumem @
Whose report is hailed as the 'Magna Carta' of the Panchayat Raj Systems ?

(a) Balwantrai Mehta Committee (b) Tarkunde Committee
(c) Ashok Mehta Committee (d) Gorwala Committee

19. sWOPpBETiiger sHCUTESL @B :

(<=1) Crrawwm (<) urgdlor el
(@) wereurfleored LGrradls (FF) elgwimemsT Frey
The Present Governor of Tamil Nadu is :

(a) Rosaiah (b) Fathima Bevi

(c) Banwarilal Purohit (d) Vidhyasagar Rao

20. &l.19. 2000 eretm HIENE ET(LHSHWIEIT :

(1) (eveTeulT (Lp. eUISTTE6 (<=4,) e epiT
(@) @pevemeum AP.J. SLIgled &b () Cmm
The book A.D. 2000 is written by :

(a) Dr. Mu. Varadharajan (b) Thomas More
(c) Dr. AP.J. Abdul Kalam (d) Nehru



21.

22.

23.

24.

25.

26.

u@&d - 11/ PART - 11

a@g,@]u') g eNarsEsErs@ el well&seb. edlearm erem 30

SL_Lmwwns edlen_wWef&se|b.

Answer any seven questions, in which question No. 30 is compulsory .

Cargedlen jrlener - cuenrwimy.

Define Socialist state.

<rdlen Carmmsens elars@d CE&TaTansS6ET WTene ?

What are the theories which explain the origin of the state ?

ST MEpT&HeT LigsEs NmbLD Feps Hlmeueammbiser wrene ?

Name the Social Institutions that the Political Scientists may study .

LenflgmT & (pLOBIGET Hrendlene 6T(Lpg)Is.

Write four Professional associations.

Fal LT & - cuenrumi&EEHe] .

Define Federal Government.

LI S6TTeu s m& et SET Wrenel ?
Y IC)

What are the qualifications to become a Judge ?

1370 (NP)

-D&

7x2=14
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27. @bg euens BHLUGLITTEETEMET 6T(LHSIS.

Write Five Writs.

28. W&SET CBMHSSL W(GHS BETEIGEMET 6T(LHS)I5.

Which are the densely populated Indian cities ?

29. wrpEITLS updl GO eSS

Write short notes on Corporation.

30. @nbHlureller Frrenel FLL bammGensll CLHMIGTET &bl LOMBlOBRISMETS Fnmis.

Name the five bicameral legislatures states in India.

U@ - 11/ PART - III

a@g,@u’) e1(p elaT&sERsE@ el wellssea|b. eunmle ellerT erewr 40 -M(&

SL_LTwiong ofenL wefl&Ese . 7x3=21

Answer any seven questions, in which question No. 40 is compulsory.

31. aualewwsd Qamarengsenw alleurl.

What is meant by force theory ?

32, orflwe sl eilgl 41 sameuens 6T (HSIs.

Explain about the Article 41.

33. 2w auEly Carium® erermmed ererer ?

What is Elitist theory ?



34.

35.

36.

37.

38.

39.

40.
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Qaugl Csriiry CAsmpled L LSns allers@s.

Define Information Technology.

Quuwiereileoren QFLNG(Y eTemINS eNl6TdEs.

Explain nominal executive.

B oM e ETammTed eTeime ? gl BN (LPEDUId 2 6TeT BT(HSENET 6T (LS.

What is Judicial review ? What are the countries which follow the Judicial review ?

slLsamu GCsrgelled CurliguihCGeaurmss Q@mss Ceauariqw $@daer

wmreneu ?

Explain the qualifications prescribed for a person seeking election to the Legislative
Assembly.

@pHu elleusms CQsmaranseanil 6lems@s.

Describe the Agricultural Policy of India.

B&T TGS @(SHeT LDl 6T(ps)s.

Explain Town Area Committee.

1947 wpged 1998 cueny o émer srevgdled Ll audlss gCsanid <m @bl
Grgiirgeflen GLWTGmeT 6T(LpGIs.

Write the names of any six Prime Ministers of India who were in power between
1947 to 1998.
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41.

42.

43.

U@l - IV/PART - IV
SemenEHG NaTESHEREGD allen_etl&seLD. 7x5=35
Answer all the questions.
(<) Bleoudrysgieu oirsler erpdflepw ey GlFls.
S|V
(<) LOSSHET B T& GTEMMTE) GTEIET ? GNeTEHEEHD F(HS.
(a) Explain the rise of Feudal State.

OR

(b) What is Welfare State ? Explain.

(<=1) anrlien, eoré, apGereler swsmu @ULIBSS Cariur oL Ui Csuis.
360605
(=) sBemns s Gararangan elleuil.

(a) Compare the views of Hobbes, Locke, Rousseau regarding Social Contract theory.
OR

(b) Explain patriarchal theory.

(1) @reneu HMID Frened pepmudeerer CoumLm(hEeneT 6T (LpS)s.
360605

(<) LTpm@BLOETD AT& (Penmuller SMLILDFRISGET WTenel ?

(a) Explain the distinction between unicameral and bicameral legislatures.

OR

(b)  Describe the essential features of parliamentary form of government.
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45.

46.
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(=) @ epemwuier sarend LOHMID (PEHWSF UGS 6l6TEHEs.

360605
(<) wememml_(h HlHl&spsD OHNID 2 08 eundluiler S Bsar wrene ?
(a) Explain the Nature and Importance of Authority.

OR
(b) ~ What are the strategic plans of IMF and World Bank ?

(1) w&seTenal, WIHlBsET el - Ceumur® SmHs.
S|V

(=) rgwfer Lkidener alileuflése,b.

(a) What are the differences between Lok Sabha and Rajya Sabha ?

OR
(b) Explain the role of Prime Minister of India.

(=) sWlPETH FlLweamsdler i, &GS &6, ugeldEsTad LMD
ollemsGs.
360605
(<) wrpsrT_fulen LenTlsamer 6r(pgis.

(a) Explain the Composition, Qualification and Tenure of Tamil Nadu Legislative
Assembly.

OR
(b) What are the functions of Corporation ?

(=) @BbdHwureller gpsramph S L msamer edlaifsseb.
360605

(=) @rramiels dnl eurtlwd ubhml elleflss.

(a) Explain the Five Year Plan in India.

OR
(b) Explain Cantonment Board.
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